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SECTION A
(6X5=30)

S. No.

Marks

(6{0)

Q1

Which of the following features are considered as critical in qualitative research?
a. Collecting data with the help of standardized research tools.

b. Design sampling with probability sample techniques.

C. Collecting data with bottom-up empirical evidence.

d. Gathering data with top-down schematic evidence.

COo1

Q2

The format of thesis writing is the same as in

a. Writing of Seminar representation

b. Preparation of research paper/article

C. A research dissertation

d. Presenting a workshop/conference paper

COo1

Q3

The correlation coefficient between height (as measured in feet) versus weight (as
measured in pounds) is 0.40. What is the correlation coefficient of height measured
in inches versus weight measured in ounces? [12 inches = one foot; 16 ounces =
one pound]

a. 0.40

b. 0.30

c. 0.533

d. cannot be determined from information given

e. none of these

CO4

Q4

Given 1Q scores are approximately normally distributed with a mean of 100 and
standard deviation of 15, the proportion of people with 1Qs below130 is:

a. 95%

b. 68%

c. 5%

d. 2.5%

e.None of the above

CO2




Q5 A fair coin is tossed 10 times. What is the probability that of getting less than 3
heads?
(a) 0.172
(b) 0.055 5 CO2
(c) 0.117
(d) 0.044
Q6 The mean of 25 observations is 36. The mean of first 13 observations is 32 and
that of last 13 observations is 39. What is the value of 13~ observation?
a. 20
b 23 5 CO5
c. 32
d. 40
SECTION B
(5X10=50)
Q1 Compare Applied and Fundamental research. Describe in your own words the 10
relevance of Fundamental research in present times. (6+4) Co1l
Q2 The following distribution gives the daily income of 50 workers of a pharma factory.
Daily Income (in Rs) 100-120 |120-140 |140-160 (160-180 |180-200
Number of Workers 12 14 8 6 10
Convert the distribution above to a less than type cumulative frequency distribution, 10
and draw its ogive. (3+4+3) Co3
OR
Explain double sampling plan? What is Type-l and Type-Il error associated with it?
Explain with example?
Q3 a) What is the use of normal distribution in research analysis? Explain with example?
b) The average number of acres burned by forest and range fires in a county is 4,300 10
acres per year, with a standard deviation of 750 acres. The distribution of the number (6+4) CO4
of acres burned is normal. What is the probability that between 2,500 and 4,200
acres will be burned in any given year?
Q4 (a)What is the difference between discrete and continuous probability distribution?
Give example of each type of distribution? 4) 10 cO2
(b) From a bag of red and blue balls, the probability of picking a red ball is X/2. Find
“X” if the probability of picking a blue ball is 2/3 (6)
Q5 Write the short notes on the following
a) Karl Pearson Coefficient of co-relation 10 CO4
b) Regression Equations
SECTION-C
(1X20=20)
Q1 Explain the importance of hypothesis testing in research? How parametric test is CO4
different from non-Parametric test? Give example to support your answer? 20




Standard Normal Cumulative Probability Table

Cumulative probabilities for NEGATIVE z-values are shown in the following table: —A

z U'UU U'U‘l 002 0'03 m m m U'UT s ]
?
-3.3
-3.2
-3.14
-3.0

29
28
27
-26
235

-24 0.0082 00080 OO078 00075 00073 00071 QOO 0QO00BE Q0068 00064
-23 0.0107 00104 00102 00080 00026 000D4 (COOBYT Q0082 Q0087 00024
22 00138 00136 00132 00120 00125 0012 00112 00118 CO0113 00110
-21 0017eé 00174 00170 00188 00162 00158 00154 00150 00146 00143
-20 0.0228 00222 00217 00212 00207 00202 00187 00182 00188 00183

-19 0.02867 00281 00274 00288 00252 00258 00250 00244 Q0238 Q0233
18 0.0358 00351 00344 00338 00329 0032 00314 00307 00301 00284
17 0.0445 00436 00427 00418 00408 00401 00302 00384 00275 00337
-16 0.0548 00537 00526 00518 00505 00485 0.0485 OO0475 00485 00455
135 00668 00855 00343 00330 00518 00606 00504 00582 OO0571 005%€¢

-14 00808 00783 00778 00784 00748 00735 00721 00708 00384 00321
13 0.0068 00851 00834 00018 00801 00885 (00362 00853 00838 00823
-12 01151 01131 01112 01083 01075 01058 0.1038 01020 01003 008235
-1.1 0.1357 014335 01314 01282 01271 01251 01230 (C1210 01180 0.1170
-10 0.1587 01562 01538 01515 01482 0.1458 0.1445 0.1423 01401 01378

09 0.1841 01314 01788 01762 01738 01711 01885 €860 011835 01611
028 021198 02000 02061 02083 02005 01877 0.1848 01822 01804 01867
07 02420 02380 02358 02327 0226 02268 02235 02206 02177 02148
06 02743 02700 02576 02643 02611 02578 02546 02514 02433 02451
0.5 03085 03050 03015 02831 02048 02012 02877 02843 02810 02778

04 03446 03400 03372 03336 03300 03264 (03228 03182 03156 031
03 03821 03783 03745 03707 03858 03632 03504 03557 03520 03483
0.2 0.4207 04168 04120 04080 04052 04012 03074 (03035 (03807 03850
01 0.4602 04562 04522 04433 04443 04404 04354 04325 04238 Q4247
0.0 05000 04060 04820 04830 04840 04301 (04761 04721 04881 04641




Tabie entry for 2 Is the area under the standard nonmal curve

to the left of 2.
z 00 01 .02 03 04 05 06 07 08 .09
0.0 5000 5040 5080 5120 5160 5199 5239 5270 5319 5359
0.1 5398 5438 5478 5517 5557 5596 5636 5675 5714 5753
0.2 5793 5832 5871 5010 5948 5087 6026 6064 6103 6141
03 6179 6217 6255 6293 6331 6368 6406 6443 6480 6517
04 6554 6501 6628 6664 6700 .6736 6772 6808 .6844 6879
05 6915 6950 6985 7019 7054 7088 7123 7157 7190 7224
0.6 7257 7291 7324 7357 7389 7422 7454 7486 7517 7549
07 7580 7611 7642 7673 7704 7734 7764 7794 7823  78%2
08 7881 910 939 7967 7995 8023 8051 8078 .B106 8133
09 8159 BI186 8212 8238 8264 B289 8315 B340 B3G5 8389
1.0 8413 8438 BAG1 8485 BS08 8531 8554 8577 8599 8621
1.1 8643 8665 BGB6 8/N8 8729 8749 8770 8/90 BBI0 8830
1.2 8849 8860 8888 8907 .8925 .8944 8062 8980 .8997 9015
13 9032 9M9 9066 9082 9099 9115 9131  S147 9162 9177
14 9192 9207 9222 923 9251 9265 9279 9292 9306 9319
15 9312 9345 9357 9370 9382 9394 0406 9418 9429 9441
1.6 9452 9463 9474 9484 9405 9505 9515 9525 9535 9545
1.7 9554 9564 9573 9582 9501 9590 0608 9616 9625 9633
18 9641 9649 9656 9664 9671 9678 O6B6 9693 0699 9706
19 9713 9719 9726 9732 9738 8744 9750 9756 9761 9767
20 9772 97/8 9783 9788 9793 9798 9803 9808 9812 9817
21 9821 9826 9830 9834 9838 9842 9846 985S0 9854 9857
22 9861 9864 0868 9871 9875 0878 9881 9884 0887 9890
23 9893 9896 9898 9901 9904 9906 9909 9911 9913 9916
24 9918 9920 9922 9925 9927 9929 9931 9932 9934 993
25 9938 9940 9941 9043 9945 9946 9948 9049 0951 9952
26 9953 9955 995 995/ 9959 9960 9961 9962 9963 9964
27 9965 9966 9967 9068 9969 9970 9971 9972 9973 9974
28 9974 9875 8976 9977 8977 9978 9979 9979 950 998!
29 9981 9982 9982 9983 9984 9984 0985 9985 9986  .9986
30 9987 9987 9987 9988 9988 0980 0089 9980 9990  .9990
31 9990 9991 9991 9991 9992 9942 9992 9992 9593 9993
32 9993 9993 9994 9994 9994 9994 0994 9995 9995 9995
33 9995 9995 9995 999 9996 9996 .99% 9906 9996 9997
34 9097 9997 9997 9997 9997 9997 9997 9997 9997 9998




